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Unit 13 - Week 12

Course outline

Assignment 12

The due date for submitting this assignment has passed. Due on 2020-04-22, 23:59 IST.
As per our records you have not submitted this assignment.

How to access the portal

Week 1
Week 2 Use Commutation table
Week 3 1) Robert would like his wife to receive a pure endowment of Rs. 100000 when she retires at 55, 15 years from now. If the money is worth 5%, he has to 7 point
deposit annually an amount of
Week 4
RHs. 44768.45
Week 5 Rs. 45613.15
Rs. 46565.25
Week 6
Hs. 48653.50
Week 7 Mo, the answer is incorrect.
Score: 0
Accepted Answers:
ot Rs. 44768.45
Week 9 . ) . L . . )
2) Ram, who is 57, wants an annuity that would pay him Rs. 5000 a year for 15 years. He has to pay for it in a single payment, which would be 1 point
Week 10 Rs. 48125.67
Rs. 46485.67
Week 11
Hs. 47856.67
Week 12 Rs. 45266.67
. Mo, the answer is incorrect.
Introduction to Insurance, Score: 0
Mortality Table Accepted Answers:
Rs. 46485.67
® Pure Endowment and Life
Annuities
3] A b1-year-old man is purchasing a whole life insurance policy of Hs. 235000 but wants to break his single premium down into nine annual payments. 1 peint
Introduction to Life Insurance Each payment would be
Types of Life Insurance Rs. 9014.15
Palicies
Hs. 4564.15
® Reserve Funds, Property and Rs. 9917.13
Casualty Insurance
Rs. 4325.16

Quiz : Assignment 12 No, the answer is incorrect.

Score: 0

Accepted Answers:
Hs. 989717.13

Solution for Assignment 12

Text Transcripts

Download Videos 4) Sandra, who is 50, would like her Rs. 75000 insurance policy to start paying if she dies when she is 60 or older. Her single premium would be 1 point

Rs. 18234.41
Rs. 17361.41
Hs. 18656.41
Rs. 17256.41

Feedback

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Hs. 1/7367.47

a) The cost of Rs. 95000 endowment policy that has a 10-year term for a 57-year-old woman is 1 point

Rs. 110324.05
Rs. 10968.03
Rs. 60260.93
Rs. 20974.32

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
Hs. 60260.93

6) If an annual premium of a policy is Rs. 5500 and the insurance company charges 8% to allow the insured to pay every 3 months, each payment 1 point
would be

Hs. 1485
Rs. 1265
Hs. 1686.67
Rs. 1980

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Hs. 1485

7] The probability of a man age 20 dying before his fortieth birthday is 1 point

97.12%
28.80%
45.07%
2.88%

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
2.88%

8) A person wants to purchase a whole lite annuity so that he can be paid Rs. 3600 at the end of each year for the rest of his life, how much of a 1 point
premium would he have to pay if he is 53 now?

Rs. 47196.24
Hs. 48523.25
Rs. 45123.55
Hs. 46895.50

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
Hs. 47196.24

9) The natural premium for an 81-year-old woman who purchases a Rs. 50000 insurance policy is 1 point

Hs. 4689.12
Rs. 45673.56
Hs. 34830.64
Rs. 3595.46

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Hs. 3595.46

10) The insurance reimbursement for a television system damaged by fire if it was purchased 2 years ago for Rs. 6000 and has a life expectancy of 5 1 point
years would be

Hs. 2400
Rs. 3600
Rs. 3400
Rs. 2600

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Hs. 3600
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